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@ Consider  +he DEG* a%y =YX,

tl.) ﬁnd‘ +he .Qq.q.-rfb’f'ihm Sn.-“lf.

b.) find +he genera/ sol ™,

C.) Find +he SPECT‘FJ‘;; S‘ﬂfﬂ with Y()= g i

d.) find ‘the ar-‘r'lnu%gnaﬂ "rrn@ac:inr-.g, that also passes -i'hruunx\\ (a,1).

@ For each of +the DEa%% below Fnd the
?

%e.m?raup gal® Llon ver:’fg that your answeér /s corredt.
That 15 show Y ownr sal? is indeed a s0/°
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@) Find the general sol” o the DEL? befow,
l\/” + HY = sin(2x) + X } |

@) Let Y"+5SY' +6Y = A(x). Set up ~+he
correct Pur“f’:‘wla.r gol® YP for each cage t‘{&/c.ru.z
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b.) @(x) = e + sin (x) .
c.) & (x) = e cos(x) + xe * o 3
d.) 2 (x) = 6cws(2x) + sin (5x)
@ Cnnsjc.l'#.r Newton's '2"""J Lo me = MmMao = m jd-{;'f
Where Fpet = —lkex + Fawt, Then
T CTR note spring breaks
m q — N+ Pt \ i xl#t) — 00 or
* =

I+ Fy = Sin (Wi) then ek chote of W will cecmmEs
breaw Xwe spring 2 CTxplain yoar choice.




